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1 

 

  a  = 0.24 B1 1.1 CHECK additional pages, mark as seen or attach 

NB 0.2 + 0.15 + a + 0.27 + 0.14 = 1  

       

    [1]   

2 (a)  eg 3𝑥2 − 21𝑥 + 2𝑥 − 14 

 

 

(3𝑥 + 2)(𝑥 − 7) 

 

M1 

 

 

A1 

 

[2] 

1.1 

 

 

1.1 

any valid attempt at factorisation three out of four terms correct or 

signs opposite 

    

isw after factorisation 

solutions to eq=0     if no factorisation M0A0 

accept 3(x+2/3)(x-7) 

2 (b)  −
2

3
 and 7 identified M1 FT 1.1a FT from part( a) 

    −
2

3
 < x < 7 A1FT 1.1 accept     x<7∩x>-2/3 or ‘ x<7 and x>-2/3’ 

Not ≤ or ≥ 

    [2]   

3   ln
𝑦

𝐴
= ln𝑒0.02𝑡 or ln𝑦 = ln𝐴 + ln𝑒0.02𝑡 

 

𝑡 = 50ln
𝑦

𝐴
 oe 

 

t = 21 or 20.6 – 20.625 

 

M1 

 

A1 

 

 

B1 

 

[3] 

2.1 

 

1.1 

 

 

1.1 

 First stage of taking logs correct, 

 

t=(lny-lnA)/0.02 

t=(Log y-logA)/0.02log e 

 

awrt 20.6 

       

4 (a)  (
24
7

)  B1 1.1 Not necessary for B1B1  

        

   25 B1 1.1   

        

    [2]    
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4 (b) 

 

 tan θ = 
7

24
 or sin θ = 

7

25
 or cos θ = 

24

25
 

 

16.3˚ 

M1FT 

 

 

A1 

[2] 

1.1 

 

 

1.1 

 

FT their PQ if possible 

Cosine rule/sine rule acceptable , formula must be used correctly 

 

awrt 16.3 

5 (a)       

   

 

M1 

 

 

A1 

1.1a 

 

 

1.1 

bar line graph   (accept one bar/line 

missing or 1 height incorrect) 

 

Shape of heights correct and axes 

labelled reasonably and complete 

Bars with no spaces, label 

in middle of bar,  

Crosses with vertical lines 

Pie chart 

Coordinates plotted but not 

joined not acceptable 

    [2]    

5 (b)  𝑥̅ = 1.82  

 

sd = 1.526 to 1.53  

B1 

 

B1 

 

[2] 

1.1 

 

1.1 

BC  

 

BC  

Accept 1.5224/1.52 

 

5 (c)  No evidence to suggest one or both samples 

flawed, as different random samples may lead to 

different results 

B1 2.4 oe …. 

Different samples of workers lead to 

different results so no 

 

        

    [1]    

5 (d)  Ali’s conclusion is incorrect. 120 workers aged 

60 or less worked from home, and this is about 

75% of 159, not 90%. 

B1 

[1] 

1.2 

 

Oe  compare 144 with 120 and reason 

Incorrect as 90% is less than 63 years 

40/160 =25% greater than 60 
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